MZNEZ (2019/3/21)

1. 4%) % z= f(z,y), * = ue’sinu, y = ue’ cosu, B P W =,y BIER (%,O), %(P) = A, %(P) =B, K%

L Oz, m L0z 7
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2. (6 %) f(x,y) = 2%y +e"¥siny, P = (1,0)
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(i) & i ([7]=1) B f(r,y) & P BUBRDBE. R 2=(P).

sol: (i)
fo =2xy +ye™sin(y) = f.(1,0) =0
fy = 2% + 2™ sin(y) + €™ cos(y) = f,(1,0) = 2

The gradient is
fP = (07 2)

(ii) The direction of the fastest increase must be the same direction as the gradient.
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3. (4 %) RewmE S : 22° — 3(2% +y?)z +tan (z2) = ¢ (c = EEB) &% P = (1,1,1) € S WE)FEFEHER.
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o= fy=—6 f:=3
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= 1lz+12y—132—-10=0

4. (6 %) R f(x,y) = é +ay+ i B (I)IREBE I (i) REEMEE,
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And f,, =2 > 0 we can know (1,1) is minimal value



